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QUESTION 1

Which Exadata feature eliminates unnecessary data transfers between database nodes and storage? 

A. Flash Cache 

B. database views 

C. InfiniBand networking 

D. high performance SAS2 disk drives 

E. cell offloading 

Correct Answer: AE 

 

 

QUESTION 2

Identify two ways that Smart Flash Cache can be enabled on an Exadata Database Machine. (Choose 

two.) 

A. It is enabled through OEDA by selecting the Enable FlashCache check box in the hardware configuration section. 

B. It can be enabled with the ‘cellcli - I alter flashCache=on’command. 

C. It can be enabled manually with the CREATE FLASHCACHEcommand from CellCLI. 

D. It can be enabled by default during installation. 

E. It can be enabled by using the cellCLI DROP FLASHCACHEcommand. 

Correct Answer: CE 

 

 

QUESTION 3

Which three steps should you perform before executing the following command which will set the cell flash cache mode
to write back? # cellcli -e alter cell flashcachemode=writeback 

A. Inactivate all physical disks on the cell. 

B. Shutdown the cellsrv services on the cell. 

C. Disable the storage indexes on the cell. 

D. Inactivate the grid disks on the cell. 
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E. Create a new flash cache on the cell. 

F. Drop the existing flash cache on the cell. 

Correct Answer: BDF 

 

 

QUESTION 4

Your customer has encountered some system disk issues and has been told that a “storage cell rescue procedure”
must be implemented. 

What will this procedure accomplish? 

A. It will perform a predictive disk failure replacement for cell disks. 

B. It will recover the Exadata system volumes by using the internal USB flash disk. 

C. It will perform cell flash cache failure replacement. 

D. It will perform a complete storage server hardware replacement. 

E. It will perform a database server disk replacement. 

Correct Answer: BCD 

 

 

QUESTION 5

Your customer wants to load source information into a database. The source files are generated on a remote HP-UX
system and need to be written to the Exadata system. The ideal solution would be to use a remote file system where an
ACFS file system is exported to the HP-UX system. 

Which three options are supported using ACFS on Exadata 12.1.0.2 and later? 

A. SAMBA 

B. NFS 

C. HANFS 

D. DBFS 

E. ACFS is not supported on Exadata 

Correct Answer: ABD 
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QUESTION 6

In which three ways can customers access the ILOM interface to manage the Exadata database and storage server
hardware components? (Choose three.) 

A. ILOM CLI interface through the management network 

B. ILOM Web interface through the management network 

C. remote KVM session to the ILOM 

D. from the database server operating system tool "ilomcli" 

E. from the storage server operating system tool "ilomcli" 

Correct Answer: BCE 

 

 

QUESTION 7

There are many different ways to load data into database tables. 

Which method does Oracle strongly recommend? 

A. generic connectivity via ODBC or JDBC 

B. database gateways to open systems and mainframes 

C. Oracle GoldenGate 

D. Oracle Data Pump 

E. SQL*Loader import 

F. data loading via external tables 

Correct Answer: F 

 

 

QUESTION 8

Which three configurations would you recommend to provide High Availability? (Choose three.) 

A. enabling Flashback Technologies - for fast point-in-time recovery from logical corruptions and for fast reinstatement
of a primary database following failover 

B. configuring bonding for the management network in order to provide highest availability for the Data Guard network 

C. using Normal redundancy diskgroups for all diskgroups where the primary database is protected by a Data Guard
standby database that is deployed on the same Exadata Database Machine 
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D. when no Data Guard standby database is deployed, using High redundancy for both the RECO and DATA
diskgroups 

E. using Normal redundancy diskgroups for all diskgroups where the primary database is protected by a Data Guard
standby database that is deployed on a separate Exadata Database Machine 

F. when no Data Guard standby database is available, configuring Exadata as a stretched RAC 

Correct Answer: ABD 

 

 

QUESTION 9

Oracle ILOM is an embedded service processor in many Oracle Exadata Database Machine components. 

What are three features provided by Oracle ILOM? (Choose three.) 

A. secure access for lights out management of the database and storage servers 

B. web-based, secure shell, IPMI, and SNMP access for out-of-band management 

C. role-based security access to limit functions to individual user administration tasks 

D. storage cell monitoring through the CeIICLI interface 

E. listener access through the back-end management interface for MySQL and SQL Developer 

Correct Answer: ABC 

Reference: https://docs.oracle.com/cd/E50790_01/doc/doc.121/e50469/features.htm#DBMSQ21287 

 

QUESTION 10

Which statement is true about the patching features provided in Platinum Services? 

A. Oracle Platinum Service covers Exadata storage software and firmware patching, but customers must perform the
database patching. 

B. Patching support includes Exadata, Exalogic, and Database Appliance. 

C. Patching services are available for the full software stack up to twice per year. 

D. The rolling window and complete down time approaches are two options to patching. 

Correct Answer: C 

 

 

QUESTION 11
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Which statement is true about instance caging setup? 

A. The initialization parameter resource_manager_planshould be set. 

B. For a system with 16 threads, the sum of cpu_count for all databases should not be higher than 32 to prevent
oversubscribing. 

C. Database instances need to be restarted to make changes to cpu_counteffective. 

D. The CPU Resource Manager and IORM need to be enabled to make instance caging to work as expected. 

E. Instance caging is the right approach to make sure that database instances are not stealin memory from one
another. 

Correct Answer: A 

Reference: http://www.oracle.com/technetwork/database/performance/instance-caging-wp-166854.pdf 

 

QUESTION 12

Which three options describe the flash memory capabilities of the Exadata X6-2 database and storage servers?
(Choose three.) 

A. no flash storage on the database server 

B. 4 x 3.2 TB NVMe flash cards on the HC storage server 

C. 8 x 3.2 TB NVMe flash cards on the EF storage server 

D. 4 x 3.2 TB NVMe flash cards on the database server 

E. 8 x 3.2 TB NVMe flash cards on the HC storage server 

Correct Answer: ABC 

 

 

QUESTION 13

Which statement is true about Exadata Storage Servers? 

A. Exadata Storage Servers automatically delete old diagnostic and metric files. 

B. Exadata requires a running database instance on all storage servers and database servers. 

C. Redundancy for the user data that is stored in a database that is running on Exadata is achieved with RAID5. 

D. Communication between a database and an Exadata storage flows over low latency 10 Gigabit Ethernet. 

E. Exadata uses network affinity to determine which storage server data is written. 

Correct Answer: A 
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QUESTION 14

Which three items are the main elements of Oracle Database Resource Manager? (Choose three.) 

A. SQL Explain Plan 

B. resource plan 

C. resource consumer group 

D. resource plan directive 

E. IORMPLAN object 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/B28359_01/server.111/b28310/dbrm001.htm#ADMIN11844 

 

QUESTION 15

Your customer needs to ensure that their data is available on the Exadata machine during patches. The customer wants
to be able to patch one server at a time but still be protected against single-node server failure. 

What ASM redundancy level should they use? 

A. High 

B. Normal 

C. External 

D. Extreme 

E. Standard 

Correct Answer: B 

Reference: http://www.oracle.com/technetwork/database/exadata/maa-exadata-asm-cloud-3656632.pdf (page 7) 
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